Math 121 - Test 1

Sep 26 2016

Question 1: Simplify: Xl I - X=§ —'_\
| (%45 ) (%~7)

+5 x2-25
= 57(-6
L(W“'S')(K'S)\\

[3]

Question 2: Rationalize the numerator and simplify: i \/Y - X + 9
- X
Fx w9
= X -

[4]

x~t 4yt
(x =y)™

Question 3: Simplify and state your answer using only positive exponents:

-t -\
o3 69 | e
x4y () |
= X -=
T+ x

2 2

= | x-3
’7’(‘8,,

[3]
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Question 4: The equation of the line through the points (a, —3) and (=1, —10) is y = 7x — 3 . Determine
the value of a.

/"le‘ﬂwd’l" }‘(ewz."
(2,73 ) 5 on Y= Fx-3, Stope of J=Fxr—3 1S F, So
6 -3= Fa-3 7= Tlo=C3) A—l-a=—
—f = X .
=) @= Fe_ —. =0
= =3 o=
0% ‘q: @) -l -a .
/ —f-a = =+ [3]
=
Question 5: Solve: 2x% = 7x — 2
axtFxe2=o | o xe 2H7
| 200 K = F S
_ N EJ@ e ! | 7
Z—C,z)

- #xJ23
4 [4]

Question 6: Find an equation of the line passing through the point (1,1) which is parallel to the line

3x+2y —7=0. |
fo-ug -3 =0 3-94’: - (XMWO)
| = -3
2= -3x+? =t = z(x“/ﬂ

= (-2 a o™ ~ =3 = |
p (42””02 V% Lx+11

So m= —3
2. [3]
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Question 7: Determine cos (57/3) — sin (1/6)

L. J3
('7(.)7:) ™~ El)
e (2.,'2-
4 -y Jg
-3 >
(+, i)

[3]

Question 8: If sec(§) = —5/3 where 7/2 < § < 7 then determine sin ()
L, v -
a".\SS-('J) =‘(A sec &= fgy:= L

.
Z ) &= _L{;
N F‘g‘“ :

NS

[3]
Question 9: Find all values of x in the interval [0, 27] for which 3cot?(x) = 1.
- AN
Feot x=| 5 7)) (3, &)
2
Cot x = -3"
) —>
Jrow\ x= 3
+.79)
fan x = \H)-F (.J. )3) 2 ‘g
)3
© =T 2T 4w g
L”X 313 3,5 “
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Question 10: Let f(x) :x_12 and g(x) =

notation.

Find (f o g)(x) and state the domain using interval

1
Vx+1 '

Fey )0 = :?'(%(X))

< \§ *
F&-’\)
=

(A&wlé 2 %«au»now«w V‘“‘bwv‘& wEN >0
y L€ m

So X> ~l

[5]
Question 11: Find functions £, g and h so that f(g(h(x))) = sec* (v/x).
(There are several possbile correct answers.)
hex) = Jx Wix) =X
o,A,(K): Se (X) o o}(ﬂ; &&L(JY)
. _
fo) = Loy = x|
[5]
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- . x3—2x+8
Question 12: Evaluate the following limit, if it exists: lim2 a5
X—— X —

_ (2) - a8

2
(-2 —Z
~F +UtE
Z
E | 2]
t2—t—20 ! !
Question 13: Evaluate the following limit, if it exists:  lim S R ¥ —g-—
t—5 t2 — 9t -+ 20 O

= ‘t";“ (’E{Sj('t +¢{)__
Ty
a_
|

v
e

[4]

Question 14: Evaluate the following limit, if it exists:  lm ———— ~ <
()

~

_ o (Do, dsex

b | — (S
K29 (4=x) (14F==)

S on - =) — =L
X 4 (WQ“B)SB\X) B

[4]
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